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������������������������������� 
�
�������������������������!�����������!���!�����"����
���-
�����$���%��� � ������
���������������"��!�����������
"����

	!� �%�"�������������
����
���������	
������ ��
��
��$
	����������������
������������
	


�
���������������������	��
	�����K0≤K(N)���	
����������
�	������
���������������������
	���	-
	��������
��
���	������������
�����������	���������������� ��$�������
����������������������-
����	����������
�������������
��*���������������
����	
���� ���������K=K0��+�������������
��������-
�������
������������
����	������������������	
��	����
���[0,T] ��������������
������������N���K
�����
�	�� ������
�
�����������	
���
��
����������
��
��$
	����� �������������
����	�������
�
�-
���� �������	��� ���	���
����� �������� ���� ,��������
���� �� ������������	��� �� �������� �
�� �
�
�

���	����������
		�����������������	��������	��
��	�����"���
�������
�	����

%�������������
���������������"�����������
����+������������!�������!����������������������-
���������������������N!"��������������������
'�����K0������������� ���+��K(N������������������N/3.

�%���1 ��"��	� -�	��
��	���������������
���	���������������
������������		�������
�������

A0����	��������
�������������	�����������������������	���	��	
�	���#�$
	��������
�	��K(N)�����
����� �������� �
���� ������ 	
���	��� ����	��� 	���	��	
�	����!���������.��� ���������� �
�
�
��

�
����	����
��
	����
���	�	���$�����
�������������
���	��
��	����������������
���������
���-
	����	
����������������	
����		��������
	���	���������		���������������
�����
	
������������
�

�%���1 ��"��
� -
����
��	���������������
���	���������������������������		�������
�������

A0�������������
����������	���������������
�
�����#�$
	��������
�	��K0=K(N). !����������		
�
���
����
��� ��N� ��
�	�� ������K0=K(N)��/� ����� ��
�
��� ��������� �������� 	
������ ��
	�
��	���
������	
�����������	�����	��	
�	����!���������0
		���
�������	������������������������������

�
���	�	���$�����
�������������
�	��
�����������������
��
�����������
���	��
���

	!� �%�"�� ��� &����� ��������� �
��
�
����� �� �
�� ���� ����� ������ ��
	�
��	����� ��
	��� 1#�
$
	����������������
����������
����	����!��������� ����� �����	����� 
�������K=K(N)��+����������
����� �������� ���� 	��������� ������ �
���	���K�� 	�� �
���	����
��������� ���� ���� 
������	��� ��
	��

�
���	����
������.�������
����������������
������	��������		�����	
���
� �������������������"�-
	������	�����
��������
����

	!� �%�"��	�������
���	��������������������������������
���	����
�
�
		�����
�������	�����

��
���
������
�
�	����	���
��	����	�����������
		�����������
��"
�
���
��
�������
������	������-
��� �� ������� ���	
�
��� 	�� ����������#�$
	������� 	�� ���� �
���� ����	�"�	����K� ��N��'�� ����
�	�
����������
��	�����
����
���1#�$
	��������/��
��	��������
���	����
���	����"
�
����#�$
	����

�����
�
������������1#������������
����K����%#�$
	�����
%���������� �!+�� ���"�����
����� ��������� ���� N� ��������� ��� 

���� ���� �������� x1[n�� �� x2[n]

���"��
��������!� ���� �� ���+��������������� ��������� K1,K2#K(N)=N!��� ������ �����!������ � ����

0�������������������������x3[n�� 
����������������K1+K2>N!������������#���������� 
����������
��

���������������������K3#N!���	�����������������x2[n��������������������
��������+
�������K2=K3=N/3.

�&���
������� ���������������������������
�����������������������������������
��������������

������������������������������ ���+���N/3.
	��'�%����.��/���������
�
��������������
���	���Ka���$�������
�"���������
����������������-

�������������"����	�����
	���		��� �����"����������	�����	
��	������ ������	����
	���		��������-
	��	��� ����	��� ���� �����	��	��� 	�����	��� ���	��	

���� '�� ������� 	
� ���� ��������� �������� #�

$
	������� �
���� ������ 	���	��	
�	��� �!�������� �� �
������		�� ��	�"��� ������������ �
���	��
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K0<<Ka��,������������	��������	�����	���
�
		���
��������	��
�������������	����		���
����	��

�!��������


�����������������!��������!������������������������!��
������!�������������� �����������-
����!�������������
����
���
'��� ����������
����
�����������
�'
������������������������"����
�-
����!���
������������&��������������

-��������������������������������������������N���������������!�������!�����������K����������!

� �������������� �������
��������������������������������!��
����
�����!��
�����/��������������-
�����������������������������!��������+����� K����Ka��	�� �����������������!�����" ����� ��

�����������������������������������������������������������������������	�� ������ "� �����
����-
�!���������������������!���� ��!�� ��������"����������
"�������������"��	�� ����������������-
�!�����������!��������!���������!������������������� ��������������������������������������&�-
�����������+
�
������������Ka� �������K(N).

	��� ����������������������������� �����!������������!��������������������������������������"

N=13,14,15��# ���������������������������������� �������!�����#��4���/�����������������
����������-
����������������������������!������������������"�����������������"������������
"���������"�
"

A0.
�������.���"�������������������������������������!���������!��������"����������������

1) #(��
���������������������������������!����������%�������K#K(N������N����������������
������

����������� ��������"����� ���� ���� K#K(N����� 	� &���

��
�������������������������������������!+���������

������������������

2) 4(��
������� �� ���� ���������� �����+����� ��

����������!�� �� ����� �%��� ���� K=K(N��� 	� &���� ��
���

������ ����������� �������� ����!+���� ������ ��������

������������������������������
"��������
���������

����������$��������"��������
�������������"�����
���

�����������������������������+��������K(N����! ����

������������ ��
�������� ��������� ���� ���� �
��!� �

��
���������������

	���20"'�)�%� ����� �!��"#����(%�$��4���������������"�����������������������"��
���������

������������������������
��������������
��������
"�������������������������������������������
�-
��������������������������������������"��������������	������!��������������������������������

���)������/������������������
�����������	�&������
����������+����������������!������������

����!���������������� !���K�<K(N).
"��)�����������������������
���������
������������.�����������+����������������!������������

����!���������K�=K(N).
/�� !��������������������������������������������� !������
������������������������������N, K�,

Ka�� !�����������!�����������!�����������������������������������������������������������
�����-
�������������*���������
��������������������
"����

#��������!�� 
��������� ���
������� ����� �!�����"���� ����������!�� 
�������� 	� ����������� �

������������������������������������������������+�����

�

�

�

�

�

��

��

��

��

��

��

� � � � �� �	 �� �� �� �
 �� �� ��

 1

 N

 Kv

 3
 5

 4

 2

���� �� ���������	
 ����
��	�� ��������

�������� �	 ��� ���	��
���	�� �����	� ���
�	�

�������	���� ��� � �����	� ���������
���	�	 


� �����	
 �����	������	� ��� Kν=Ka	 �������

���
���	� ��� Kν≥Ka � �����	������	� ��� ���

����	�� ��� Kν<Ka	 � � ����
��	�� �������� �
����	�� ���	 � � ������
��� ���
���� ��� ���

��
��	�� �������� K0 � �������	���

������� �
1 � � � � � � � � � � � � �

 6
0 � � �

1 � � � � � �
5

0 � � � �� �� �� �� �

1 � � � � � � � � �
4

0 � � � � � � �

1 �

�

� � � � � �
3

0 � � � � � � �

1 � � � � � � �
2

0 � � � �
�

� �

1 � � � � �
1

0 � � � � � � � � � � � � �

0 1 0 1  0  1  0  1   0   1   0   1Kv
     

Ka       1       2       3       4      5       6 ξn
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{(K�#K(N)-1)∧{(K�=Ka)∧[(A0a=0)∨(A0a&	�∧(A0�&	��∨(K�=Ka+1)∧(A0�=0)∧[(A0a&	�''(��

4�����!��
��������������� !������
�����������!����������
������

{(K�#K(N)-1)∧{(K�≥Ka+1)∧[(A0a=0)∨[(A0a&	�∧((K�≥ Ka+2)∨(K�=Ka+1)∧
(A��&	���'∨(K(N)#K�)∨(x[n]=ξ[n])∧[(K�≥K(N)+1)∨(K�=K(N))∧(A��&	��'(��

������������������� !������
�����������/����������������!����������
������

{(K�#K(N)1)∧[(K�#Ka)∧[(A0�=0)∨(K�+1#Ka)∧(A��&	��∨
(x[n]=ξ[n])∧[(K�#K(N)-1)∨(K�=K(N))∧(A��=0)]}=1.

3����� ������ ����� N� ������� �� �� ��K�=K(N))∧(A0�(	��(��� ��������� ����������� ���������!��
��������

�����������������������������������Ka=K�)∧(A0a(	��(�����
�����!��
������������������������!�������

(Ka=K�)∧(A0a=1)∨(Ka>K�).
.������ �x[n]=ξ[n����������������� x[n�� ��������������������������������������������� ��
�����������-
������������Ka��������������������
����������������K(N���
���������������A0a�����
������
�������
��-
����������&�����������������������"����

	���������������� &�����
����������������!�����������
����
����
�������
��� ��������������

��� ������������������������������������������

���	����������������������������������������a) Ka=K���	�&������
���� 
�����������������������!�


����������b) Ka<K���1��������
��������������������!������
�����!��
����������c) Ka>K���1����

 !�������������/������������������
�����������������������
�������������������������������

"��	�������"���������������������������������"��
���Ka≤K�����������
��������������������!�

����
�����!��
�����������������������������������!�������������������������!+����������������!�

����!��

���	�������������������������������������"��
���Ka>K���������������� 
������
���������������-
������&���
����
������/����������
���Ka=K�������
�������������������������������������"�������
-
���������������!��
���������

(�������
����
���!�������
��������������������������������������

���3�������������������Ka��������������������������������������������������������������������

��������������������������������������
���������Ka=K���������������������"�������������
���"�

"��3�������������������������������	�&������
��������
��������������������K�=K(N������������-
�����������
�
�"����������
�����������������!��
���������������
����+����K�����������
����������-
���������������
������������������
������������ 
�����������������������������������!�
�������
��-
�����0������������� 
��������������"��	�������������
���������������
����+����K��������������������

����������������
������%������������������
������
������������������������������!��K���0��������-
����� 
���������� ���� ���-������������ &�����������������
������������������������ ������ 
��������


����������

(�������
����
�%!�������
��������
��.�����Ka���������������������������Ka>K���	�&������
������-
���������� 
��������������������������!����������"����K���������
��������+� ���S��������������

���������
���������������������
�����������

#������������������!��������������!������������������������������������������������
�����

S���������������������������������������K������&����������������������+���������������K)��������!���

��������!����������������!�����������������������
��������

,;;; ����

�

=
ω∂
∂

=
∂
∂

=
∂
∂

=
∂
∂

���

�

�

�

�

�

�

�
(9)

����k=1,2,...,K.�
�������
������������������������������� !������ ��������������������������
�Ks,
K0, Kν , Ka ��N�����������+������������������
����������������!������������� ������������������������

 
�����������
����
����������������+� ���S��*���������������+��������
�������������!�����
���-
����������������������������������������������
�����������#���������������������������!������-
�������!�������������#����������������������������
"����


��	%$%"�%"&��("'��$�$!!�!3��'�)�%� ��$�&�%$����(%�$������������������������������������-
�!���������K = Kν ��! �����������������������������������!������������ωk'��.��������������+��������-
���!�������!��
������������������������������!���������
��������������������A0, A1, B1,..., AK,BK�����-
����!�����������������+� ���S��������������"���������������������������������������������������-
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���������������
����+������+� �����! ���"����������������������������������������������������-
������������������!�������S��0��������������������������������� �������������������������������
��-
�����������������������������������������������
���S��
���������������������������������������-
�
"������������!������"�������������������������
������ ���������� ������������������������


�����������������������
���
����+�����%��������������������������� ����������������� ��� �������

�����
�� S��������! ��������������������
����!����������
������������
����!��� ������������+�-
����������� 
�����������������������1�����3�����

����!���������� !������������!�������!��������!������������-������������!����
�����!���

������������

����������)������!�������������!�����������������������������Ka("����
���������������������-
������������
�������������������������������������������������������
�������!����
������������-
�����!��������!�p=ωT/(2πN������!�	��$�*���	���*+ �������
�!�*	����		��������������� ����!��������-
������� ��
����!��� ����������� ������������!�� �� �	�"π���/����� ��������� �� ������� ����������� N=14.
3������������!�������!�����������������������������������!��Kν(*��
�������
�Ka<Kν���N<3Kν+1,
���������������+
����������������������������������������������������(��
���������������������

 !�������������������������������!��
�������������������������������������������!��������� !��

���������
��
����!���������!�����������
����!����������
�������!�������������� ���������������-
�!����������������������������������������������������
����!���������)�����!��������������������-
�������������������������$3#�+
���σ("�* �* ��	��	����� !���� �� ������*		����������������������

�		��������������������������"	����������������*�������������������$�������������������+� ���S���-
�������������
������"���������������� ������	

-8
��)��
�����!������������!���������"������%�����������-

�!������������������!��������������������"���������������������������������������!��������� ���-
���������������������������	�	�*���.�������������������������F(p���!������!��
����������

���������������������������
�������������������������������������! ���������		�������������������

�����������!���������������������������������+�� ��������&���������
�����������"	��������
���

��������������� ������3���!�������!��"�������������������������
����������+
������������ ������

��������!��+
�����%�������%��������������������������������� ���
����������������������������-
���������������"������
���������������������
"������������������������%���������������������+
��

���σ�����	���
������
�������+
����������������������������������������������������"�������������-
���������������+�����������!�%��������������������+��������������
�'
����

%�������!������� ���������������� ������
�������
��������#��������+����������� !������
��-
����� �����&��������!�������� �����2���
	
������������
�
�����	�������
��������������������
-
����	������������������������������������������!��������+����� Ka, Kν ��N��#��������������"���

����+�����$�

��

�
�

�

�

�
��

��

���� ���� ���� ��	� ���� ��
�

 ������ ��������	�
�� ����
�
����� ������

������� ���
�	� ��� ���������� �����

 p

 lgF(p)

��

�

�

�

�

�

�

���� ���� ���� ���� ���� ����

 ������ ����	
�
�

�
 �
	���
���
�
������ ��
��	� �����

 p

 lgF(p)  σ=1

��

�

�

�

	

���� ���� ���� ���� ���� ����

 a)

 σ=2,5

 p

 lgF(p)

-1
0
1
2
3
4
5

0,00 0,10 0,20 0,30 0,40 0,50

 b)

 σ=5

 p

 lgF(p)
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��� �%!"&"%�!3���� ���'�%�$� ���(%����� $������������� ������������� 
���������� �����������

��������� �� ����������!��� ���
����!�� ��� ������� �
'�� �����!����� ����
"����� 	� ������� ��
���

������� ������ �����!��� ��������
� ��������������� ������������ �� ����������!�� ������� ��N-1)/3],
����+���� ���� ��� �������� ������� ����!�� ��N���!"�� � ��� 
����� ����������!���� 0�� ������ ������ �����

 ���+����� !����������������������������
'�������������
���������������� ����������������!����-
����������3������������ ������� ��������� ��������� ����  ����� �� !������� ���� ������������� �������-
����������&������
���������������������������� �� ��������!���� ��������������&������������������-
�������������������'
������� ��&���������!��!���
�����������
�������
������ ������������������-
������������������������������'
����

����������������!��
�����������������!�����������!�������������" ���������������'
��������
�

���� ������������������������������������������������� �������
���������������	�����������
���

�������������������������
"���������������������������������!�������������������
"�������������-
�
�
������������������������������������������ �� ����� ����������������������������������������

����������������#��������!��
�������������������������� ����������
"� ���
��
�
���������������-
���������	�T���������������

	��������!����
���������������������������������!������� �������������������� ������������-
������
���������"���������!�� ��!����"������
�������-�����������������������
��!������������

�����������������������
����!��������������������������������
����������� &��������������+����

������� ���������� 
�����������
����������������������������
�������-��������������������������


�����/��������������������������������� 
��������������������!������������������"��������������

����������!��������

�������������
��������� ���������������������
����
���+
��������������"���� ���������������

#(��
�������� ��� ��������������
���������� ���������� ����������� ������+����� ����������� �������"-
���������������������" 
"��������������
"��������
������������������������������+
"�������!T -
�������!��������������������'
�����0�����������������������������������������������!������������-
����)��
����������������������+
������������������������
"����
�
�+����������+�����

��������������������&����������������������������������������������������������������������-
�!������������������������������
"�����#����������������������������������������������������

�����������
"�����
�������"�������������������������!��
����������4�����������������������&���-
���������� ���������� ������������ ����������!��
��������� �� ���������������� ��������� �*�� �� �+��� ��

�����
�����!��
����������#��������������������������������/����������������������������������*���

�+�����������������+�������������!��������������������������������������������������������������-
�����������������������'
�����������������������������
����&����������������
�����������������-
�
"�����
������ ����!����������������������� &��������������������������������������"� 
�����

������� ��
�������������������������� ������������ ��������������� ��
���������� �	�T�������������� ��

������!������������������������������

�����)�%� ������"��-�� ����� ���������������������
����������������������
���������������-
�������������������������������������!���������������+�������������
����������#���������������-
����������������������!�����������������������������#�����������������������������������������-
�������������!��!��������������� �������������������������
����������������������-������!������-
������������
"����

���/�� !����
�����!���������
�
��������
���������������!����������
��!����������!���������

������� !��������������������������������
"�����
��������������������������������������������-
������
�&���
�����������������������������������������!� !�������"���!����������!��������������

���������������!����������"����������������������������

��
�
�
�
�
�
�

���� ���� ���� ���� ���� ����

������ ����	
�
�

�
 �
	���
���
� ������

��
��	� ���
��� �	� 
������ ����

 σ=10

 p

 lgF(p)

 c)
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"�������������
��!���������������������� Kν ���������(��
������������������!�������!����+����

������������������������������������������� ��"������
�� !������������!���������	���������
������

������������ 
�
���!�����!����������!��������������!���������������������"�����������!���������

���-�������� !�����������������!������������������������������������N=3Kν�������N=3Kν�"����


����������������������������!���������������������������������
�����
"�������������Kν=Ka��
��-
�����&���������������������������
����
���������������������������������"�������������2����������-
�!����
����������������������!�����������������!+����������������!������!��������������
"���-
�����
��$
��������������������������������
������
��������������-�������������������������������-
�����������������������������������������������"��������N=3Kν+1.

%��-�������� !��������������������!����������������������� Kν<Ka�����
������� �Kν, 3K0<N��0�

����������������������������������������������� ���+��������������������������"��-���������&��

��� ������������!��������������!����������������+
������������������

$���
�������������������������!��������������������������!����!����������
�
������ ��������

�
��	�����
�
����!�������
��2����������������������������
���������������������������������!��

�������������������
��!��� ����������������������"������������������� �Kν≤N, Kν=Ka��5����������

��������+����������� ����������������!������������������������������������������������������� �"�

��"	�,�,���#�����������������������������������������������


����$!"%"&��("'��$�$!!�!3��'�)�%� ����� �!��"#�����(%�$��2��������� ������
�� !�������-
�����!� 
��������!� ����������� ����"������ (��� #(�� �� 4(��
��������� ��� ����� �������� ������ %#�

$
	������ ���� �����!�� �����!�� ������� ���� ��������� Kν� ������� ���
������� ������!��� ��� ����� /��

���������

	!+�������������������������
���������"�"��������!��!���������������� !��������������������

�
������"���������
�������������������������"��������������������������������"��%���$�������������

��������������������"�
����������������!������������������������������������"������������������-
�
"������������������������
�&���
������������������������������������������������!������������

#�������������������������� 
����������������������������������������
"����������������������

�%�������������������������5
�
������������!����!������������


������ ����������� �����
"� �����
�� ������ ��������
��!�� �������� ��������������� ����������

�����������������������������"����������������!��Ka≤[N!����0������������������������������������-
���� ����� ���� A0(	�� ����
��� ���������������� ���������������� �������� ���������� �������������� �����

Kν≥Ka�������Ka����������������������!���������������������!��Kν��
������
���������+���������
��


���������Kν ������������������!��	�������������������
�������
����������������!��
������������-
������

)���������� �������� ��� ������ �������� �������� ��� �
��!� ����������� A0� �� �������������� ������-
��"��� � ������ �����!�� ������� ���� �Ka≤ N�� 3� ������
� ��
��"� ���������� �������!�� ���� �����!�

Ka≤K(N������������������� !�����������������������!�����������!��
����������$"����������������-
����������!�����������!��N �������������Ka= N��	���
������
��������������������������� 
�
�����
-
������������������!��
��������!�

%������������������������������������������������������������������!������� ���������������-
����������������������	����������
����&���A0��	����������������������������������
���
�����
�!�

������������������������������
�����
�����+���������
"����

���.����������������!�������!�����������K=Kν����������������������A0.
"��
�����"���������������x[n������������������������!����&��������!�α1 ,...,αK������&�������-

+��������������������������������!��
��������

∂ε/∂αk =0; k=1,...,K������� (10)

KiK

K

k
kkiKkii

KN

i AxAxx α−−α−+=εε=ε −+
−

=
−−+−+

−
∑∑ )()2(; 01

1

0
0121

2

1

2 . (12)

.�����α0(� ����2���&����������������������"������
���ε���� �αk'�������N�������� ����N=3K� �&������-
�����!����������������K0 ���� �$������� �αk'����������������� �������
���������+�����������!� �εi =0},
i=1,...,K.
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���#�������"����������!�ω1,...,ωK� ��������������������������������������
��������� ����������-
��������������������

cosKω∆t-α1cos(K-1)ω∆t-... -αK-1cosω∆t-0.5αK=0. (12)
%��)������!��"����������
�!��������A1,B1,...,AK,BK��
������������������+�����"�����������
�����-

����!��
�����������������#��������������������������������������������S.
*��

�������������������������� ���� �������� A0��������������+����� "�*�������������������

��
��������+� ���S�������������������������������������2��� 
������+�������������������������
���-
��������������������������A0.

	����������������������������!��������������������� 
�
�����������������������
�����������%�-
����
��!����������x[n������������������������ Ka��������������+�����������������Kν��#����������-
����������������������������������������!�����������
���������������������������������������� 
���

���������������������������������Ka≤K0��-����� !��� ���������������
���������������������������!

���������Kν����������
���������+����������������
���������������

$����������������"�"�������������N��������������Ka=N������4(��
�������
�&���
���������������

���������A0����������!��� 
�������
������
����
�����������������
������������������������������-
� ������� ��������!���! ���A0��������������!��



�����������N)�������������N=3Ka����&�����������"���	�&������
��������"�����������!����������

A0���������!� ω ����������Ka�����������+����������������������	�������������������+����������K=Kν����-
�����������!��
����������+���"�





−==α∂ε∂
=α−∆ωα−−∆ω−α−∆ω −

.1,...,1;0

;05.0cos...)1(coscos 11

Kk

ttKtK

k

KK (13)


������������������������!���αk'�����"����������"����������!��ωk'���������������!�� 
������������-
������������������ ω ��+�������

�������� ����A0��� ω ��������������+�����"�%���������
��������������

S��2��� 
������+�����������!�"�����������!��
��������

0;00 =ω∂∂=∂∂ SAS (14)

������������ A0��� ω ������������������������
�!������K ������� {Ak, Bk'��
�������+����������������-
��������������������� 
�������
���������������������#������!�����������������������������+�����"�

���������������!�������
���
�����������������
���������������K���
�����������"����
�����������%������-
��������� %K)�� ���������!�� A1,B1,...,AK,BK, α1 ,...,αK, ω1,...,ωK-1, A0, ω � ���������������� %�� 
������!�


�����������������!���������������%��


��
����!��������������������
"�����������!�� ����������A0��� ω �� 
����������������������


�������������������
������������������������������� �������������������S �����!�����&����������-
�!�����������
"����������������������
����������!���
���������

	������������������������������N+"������������N=3Ka�"���������!���������������"��������������-
���������� 210 ,, ωωA ��	����������������������������+����������K= Kν���������
��������




=−==α∂ε∂
=α−∆ωα−−∆ω−α−∆ω −

.2;1;2,...,1;0
;05.0cos...)1(coscos 11

jKk
ttKtK

k

KjKjj

������ ��������"���� ������!� �ωk'� �
���� ��+����� 
��������� ��"���� ��� ������
�!� �+��� %���	�����
�

������
������!�������������������������S����� ������������
��������������������
�����������!����-
������!�
�����������+���*���0����������������������������+���������������������������������!�
����

������� ���������������������������
��������!��
������������������������&������������αk'��	����-
�����������������������������!��
���������� ;�� =∂∂ �� ;01 =ω∂∂S  .02 =ω∂∂S

3�������������������������������
������������������������������������������������!����� ��-
����������������������!�������������!� 210 ,, ωωA �����������
"�����
��������������������*�����+��

���������
�������������������������������������������� Ka� ��������� �������������������������

�������!����������
������������������!����������Kν ��
���������������������
��������������!����-
�
���������$���
������������������������������!���������!�������������������������Ka������������

����������� �����������&�������������������������
������������������������� 
"������+���������!�

�!���������
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0������ �����������������!�����������������!�����
���������������� "�����������������������


����+���� ������ ��������!�� 
��������� �� �������� ����� ����������� ��+���"�� *� ������� �� �� N/3,
(N+1)/3 ���N)"�!�����������"�������������N , N+��� N+"������!��������������������%������������&��������

�����������������!�������" ���������������N������������������ x[n].
%�������!����������������� !�������������������������������/�����������0�������������������-

��������������"��������������!�������������������������������������
����
"������!����������"-
���������������+
���!���-����� ���������������
�������
������� !������������2��� 
�
��������!�

����������
���������
������������������������������������!�������������������
������+���
���&���

������+�������������N ���Ka�����������������������������
��������������������-����������������

 �����&��������!����������������/����������

���	%$%"�%"&��("'����!� ��$%�!3��'�)�%� ����� �!��"#����(%�$��%���������
������ ��������

������������������������������!������������������������������Kν≤N!��������Kν=N!������������+����

������� ������ ������������� 
	
����������� �
�
�����	��� 
�������� �������� 
����������� ����

Kν<Ka≤N!����������
�������������
�
�����	�������%!�������
��#����������������������� ���+��� �

����!���������
���������3������������������������������������������������!���������������������

���������� �������������� !������
�����������������+������%������
������������������������������

���������������� �������������
���������
����
��!����%!�������
��
���������������������!���-
���������������!����������������������
�����������������������!����
������������


������������ ���� �������!� ���� K� �����������!�� ������� �pk'� ��������� �������� x[n��� .����� pk

=ωkT/(2πN�����������!������������� �	�	�*���4��������������������������"�����������#�������������-
��������!��������������	�
�����������������������������������
��������������������� 
������� �-
�����/N��0���������������������
��������������������� 
��������������/N��# ��������������Kc������-
�������� ����������� ������� �� �����!�� ����������5
���� �������� Kc �
������� ������
��1����� 
����-
���������������������������
"������������������������������

	��'�%����� �������������
���
����������	����
�����{pk}����	
�
�x[n] �	
��������	����������

�
������		������
�����
�������������������	�����
��������	����	����	�������	���
�������
����-
����	����
����������
��	���������
��


����������������
"����������������������!����������������������������

���$������ �������!��� ������� �������� Kc� �� ����������� �����!�� ��������� K�� ������� �� ���������

�	�	�*���������!�� ��������� �pk'������������4��������������������������"��)������!����� ������
�!

{Ak,Bk'������������������������+�����������������������������������������S ����
�������������
�-
��������������������������������!�������������������������!�������������
��
�������������!�����-
�����)������������ ���������������
� ����������� ������������������� �� ������������������� �+� ��

��������������Sm��2��� 
������������������������������������������������������

"�� �� ������� ������������� �� ��������!�� ������� ��
��
� ��� Kc� 
������!�� ��������� �� ��������

i,i+1,...,i-1+Kc������i(���������������
��!��#�����������+� �
���������������S ��������������
����

���#�����������
�����������������!�Kc�������������
������
��!������&�����������������������

��
������������������������
���S ������������ �pk'���������
���� �Ak,Bk} ��������� ��
��!��������

�����������������
������������������Sm��.�����������������
������
����������������
�����&���������-
��������
���������������
�!����������������������������!�����������!���	!��������������������

������������������������
��������!����������!����������
�������!����������������Sm����������������

���
�����������+�������������4�������������������!����������������������������"�

%���� ������� �����������������������!�����������
�
"���
��
�������������
������!���
������-
�!�����������������������i,i+1,...,i-1+Kc���������
"�����i��)������!�����S��4����������������!�

*��
���������������
����������i ���������
������������&���!�����%�K-Kc ������
�����������������-
�!������������������������������������
��������������
�������������

,��1���������������������&���!���"�������*������ �������� ���"�����������
���Sm.

	����
�����������������������
�!� 
�������
����������������������������������������
�����-
�����������!���� ����pk}, {Ak,Bk'� 
�������������
�������/��������������������
���������������!-
 ����K ��Kc���������&����������������������� !����������������������������
���+���"��
���&���

�������
�������������Sm����
���������� ����!���1������ ����������������������������
�����������

�! ������
�����������!�������������������pk}.
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��������������������
����������������������������� ���+��������/N�����������Kc�(���0��������-
������������
�������������������������	����
�
�����	�����������
������������������1����� 
������-
��"����������������������+� ���S ����������������������������������������K ���������2�����������

���������������������������
�������������������������������������������������������
�����������-
������������������������������������������!�����������������������������
������!��� ���+���/N��	

&������
����������������������������������������!��������������!� 
�
�����������!���� ��������-
��!���� !���!������� ���

�����K�������� ���+�����������������������
����
"����������������������������� 
�
���!����-
�!�������������!�����������!���������
�����������!�������������� �����

����� ��������� Kc� ���� ���������� K� �! ����� ����+���� ���� ��� 
������ ��� �������� �����������

�������� 
������������������������������������������ ������
���+���"����������������������&����-
����!���2��� �������� �� ����� ���� ��������� ����������" Kc� ������� �� �����!�� ���������� ���������� ��

 ���+�������������������������	���
����������������������� 
�
�����������!�����������

%�����
��!��������������� !��������������Kc=K��	�&�����������������
���������������������-
�������
�������������
�
�����	��������.

	�����������������3������������ !������������������Kc��������������������������������� ���������

��������
���������
"����������"���������� x[n���.���������
�������������������������Kc����������-
� ��������!����������������!���!+�������������������
���&���� 
������������������������+� ���

Sm������������������������� �����������������������
�����������Kc�������������������!�����������-
��������������+� ������������ 
����������������� ���"�����������
�����������
����������Kc�����
��

�� �������������������������
������������������������!���������������K��! ������������+��������

��������������
����
"��������������������������Sm�������������������
�"�

����� ��������������� �����������+
������ ��������"����� ������� �������� ����������� �!�������

������������!������������������������!���������������2��������������
��������"����������������

����������#�����������������������
������+
���������������������������
����� �������������Kc����-
��� ��� 
������������������ ����������!�� ��������"������ ����������������� ������� �������� ����
��


���������Kc��4�������������������������
�������������
��������������������������
������ ������!-
������
�������+
���

)�����������������������������
��������������������
"��! ���
����������� �����������������-
���
��	�� ������
����������������������� !����������������
��������K≤K(N������������#������
�

���������������������������������������!������������
�������
����������������������������K���Kc,
���������������������������Kc =Kν=K(N���������� ���������������	�&������
����������������������-
������������
���������������������
����	���������������������������
�������������������� ������

*��������!�� ����
������� ��������!� �� ������
� �" ����
������� ��� ������ �������� ��� ����"�����

�
���������������
�������������"����tg x, arcsin x, sin x/x, ln x, exp x�����
�������������!���
������

�������
��������� ��������� ����
��� ���������
��� ��
������������ ���� 
	
����������� �
�
�����	��

�����!�


���������!�������������������������������!���������� !������������!� ������!��������!�

����������)��
�����!�����������������&��������������-������������!��������!���������

������� 
��	� ��������� ��������
������ �������� x1[n�� ������ ��������������������� N (�	� ��������

�
��!� ������������ +
��� �� ������!�� ��������� ][��� ,
�������������+����������������������������� ��"��	���-
�������+
��� ����� ����������������������������� �� ����-
��������a=0; σ (���-������*���� ������ ][��

�
��)���������

����
���������������������������������"���� *������!�

����������	������������"������������!�����������!����

������� -�� ����,� ��� �����!� ������ �������� ������!�

��������� �� ��������� �������������� ��� ������
� x1[n],
����������!��������������K(+�� Kc� (���/��!��������

�������� ���������� �� ��+
��������� ��������� ���
�����

���������
��� ���+���
������+
������
�����!����
��-
�����������
���������������!��

������� �

���	
	� pk �����	
�� ����

0
0.0621
0.1472
0.1623
0.1764
0.3544
0.4265
0.4976

  20
110
120
130
140
150
160
170

0
0.1
0.4
0.8
1.2
1.6
2.0
2.4
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������� ���	������������������"���������������������� ][��
�

� �����+������!������������� �������

�����������������������%��������������!�� ���������������	�"�"����	�"$+%��	�&������������+������������

������ ��������� ��������
� ����������� ����
� ����������  ���+�� �!�	�� 0�� ����� ������� �������� Kc=1.
$��
��
�����������������������������������4�������������������+
������� �����������������$�����-
�������!�� a=0; σ (�		��-�� ������ ��� ������ �
�����!�� ������� x2[n���-�� �����	� ��� �����!� �����

��������+
����������!����������������������
�����������������������������������������������������

K=7; Kc�(���$������+
����������!������������������������������!��������������K(�	��
�������+��


�������+
���������������������
�����������������


���������!��������������!������� !�������������������!��������!������������������!�������-
��������
�� !��� �����������!� ���������������������� ���� �������� �� �������� ��������� �� ���������

����������������������


��������������!�����������!������������!������������������������������������� !��������-
����������!�������������������������������������'
����

6������
��

1. -
���������(��&��7������������������!���������������������������
������������1���1�������	�

�������

2. 2��	�#���2��	�)��$������������������������������
��!���� ���������������������1���-�
���

1973.

����

����

�

���

���

� � � �� �� �� �� ��

 ������ ������  ][��
�

.

�

��

���

���

���

� �	� �	� �	
 �	� �	�

 ������ �	
��
� �������  ][��
�

,  
 �����������  ][���

.

 p

 ����������  ������

����

����

����

�

���

���

���

� � � �� �� �� �� ��

 �����. ������  ][��
�

.
����

����

�

���

���

� � � �� �� �� �� ��

 �����. ���.

����

����

����

�

���

���

���

� � � �� �� �� �� ��

 ������ ����������  ][��
�

.

�

��

���

���

���

� �	� �	� �	
 �	� �	�

 ����	
� �	
��
� ����� �������
 ][��

�
, ����������� ][��

�
.

 p

 ���  ������  ����������


